= 5 Az BANE A7E Ao A7

Q@ o™ 4= 9] b HiETF 422 5

© o 4= q °f 6= H?t 59 b Hi

© aEoH b= e 5

@ ol"H FaEcE YUr T3ZHT 5
@ a+c+3

® axb—4

@ (a+6)xb

© a=+b

Oote 0oOte OQOote ©oeoRe O 7o



sflof

&

ol ofef <1171> 9 S4] 4 5 A

S

8= &7 {1

ol
RS
A
™
i
;O._

o
™

A

—
Ife]

B

@D a=bolHa+c=0b+c |t}

bolH aq—c=0b—co|th

© a

b ©]™H ac = be ©|Tt.

© a

@ © ® 0, ® @ ©, 0 ® 6,

OR@)



ol

ol
o8

x
oig
Nfo

olp

bolHa—c=0b—co|th

@ a

@ a+c=b+c©°Ha=0>bo|t}

1
b o] 3¢ = 2b o]t}

—a =

a =b o]t}

Bl

® ac = be |

b ©]™ ac = be ©|Tt.

® a



4. ool BE PPN (-2 +1=3 9 HE AT be+3=c 9 HE RE Y
W, a—b+c ) ghe Fatelet.



